am cdot N} [1/GeV]

i

Hu

1, dO
d6d

Ratio to ATLAS

-
o
R

w

d” {p

0.5

13000 GeV pp

| I T I T | T I I T I | 9
| —
= pf"”“ (ATLAS ttbar) 12
— =
~ m  ATLAS e

—A— Pythia 6.428 370 g
[ --©-- Pythia 6.428 atlas-csc 2
— -~ Pythia 6.428 dét —5
Pythia 6.428 default D
| ¥~ Pythia 6.428 dw &
_ 1
™
n <
(40
<
- 1O
™
—i
X
— —.8,
[ 1=
| — O
- —
- — O
O
— - n
u _|©
o
(&)
| . . . . | . L | &
:l T T T T | T T T |:
— =2
- I -
- A\ R ]
B B = |
v/ - - - {) 1
g;___:;zzfj?:i——' .
| —0.5
| 1 1 1 1 | " 1 1 " 1 " |
0 500 1000



	Contents
	Page 1


